$£41EMKUTRY —XELGHRFOEFHEAS

23— | : 18300050

ERE30E4H228 (H)
H=HFLOBEEELHEEIS

[BFDER] b a— K : 301010
ERl | ¥EHB 141 241 34 AL 54 64iL JAivi 84
_ 200m |FTA HEA 26.57
M4-5F| 09 |m#svzs—x
Il IE3R 58. 66
400mH | 4 v 2 8 —
60m [%EE E#H 7.50
N30 ¥ -1.9 |#Fu~xx4—X
100m LH B 11.87 (0.0)|KAX & 11.88 (0.0)|hEA &¥E 12.18 (0.0)|[ KA &4 13.17 (0.0)
HMILT R4 —X MPL<T R4 —X BT RE—X K<Y R4 —X
MILT R4 —X PR-GR
hHE AlE 1:02.99
400mH BB RE—X
60m [HEH = 7.94
WSEF | 19 |kmwzs—x
100m WA =% 12.59 (0.0)
K< AH—X
200m (A =% 25.26
0.9 |KERvR4—X
=2E Eif 1:04.38
A00m e 2 5 — %
oy IR E— 5.09 (+0.5)
E IR MFLTRE—X
" A E— 12.65
SRR gz 58—
womEz | eon |ME _HEHE T CO[HE BEx 7.8 CLOET * 789 (1O IR B4 1.94 (1.9 [HB FEth 8.22 (1.9 [#kil Atk 8.49 (-1.9)
KR<TRH—X HRTAA—X HEIARAA—X ZRTRAA—X MIUU~v R4 —X MPFL<TRE—X
100m MNE KB 1203 20[FF EBx 12.44 (-2.6)|AF T 12.55 (-2.6)[IU4E B4 12.78 (-2.6)|##3B Bt 13.40 (-2.6)
KR<TRH—X HRTAA—X HEIARAA—X ZRTRAA—X MIU~v R4 —X
200m INE O FEth 2417 (+0.9) [0 BX 25.36 (+0.9)
KR<wZXAH—X HEREYAS—X
BR E 56. 59
400m | R 28—
goom | XiE 2:20.52(®kL #Rth 2:36.16|FkA I 2:50. 77
HMIUTRE—X HMIUTRE—X HMILUT R —X
Hg XiE 18:23.85
5000m  |engriw x5 —
N NI T2 16:02. 74
3000mW ERTRAA—Z
o |/NE T 1.70
E B MITLTRE—X
EiEk H 3 5.79 (+1.5)[/h#k FEZ 5.42 (+1.5)
= lgEw xR —X MIL<T R4 —X
—enay |[/MR EZ 10.99 (-1.9)
=EB gz 5—x
v oy |ME O RZ 13.68[85K A 12.78
SRR | giiv x 58— M7 24 —Z
~ |BE FH 9.38
BAE |lgmeza—x
s |BK W 29. 04|12 = 21.57
MBS |guwxs—x BETAE—Z
58 FH 44.83
L JL
PYR |pwmeza—x




ERl | ¥EHB 141 241 34 AL 54 64iL JAivi 84
M45E F eom B B 769 +1.6) (RS EHR 7.7 ¢+1.6)[ELH = 7.85 (-1.3)|#BER FX 7.93 (-1.3) (A fH= 8.11 (L3Pt {EE  8.15 (+1.6)[ATEH ZER 8.44 (-1.3)[# _ 8.54 (+1.6)
KR RAHZ—X KR RXE2—X fFL<v R4 —X PR-GR|#FIL<w X4 —X L~ R4 —X RETRAA—X L R4 —X EEVAA—X
joom  |ESF fBRE 12.27 (-2.8) |2 HE= 12.61 (-2.8) [t 9= 12.95 (-2.8)|H5@ —Ef 13.38 (-2.8)|=8% &GA 13.59 (-2.8)
KT RAE—X MIU<T R4 —X MBLUTRE—X MBLUTRE—X MPLUTRE—X
A0m B WBE 5. @l BRE 56. 93[dIT FZ 1:01.68|5@ —2B 1:06.06
KR RH—X EETRS—X HEPTRAHE—X MIL<T R4 —R
800m BIA =ER 2:21. 43[4t 22 X 2:32.80
MITLUTRE—X BT A2 —X
1500m T FE X 4:42. 94| EE BE 5:11.42
EETRA—X MIUL<v R4 —X
EFE B 19:57. 91
5000m MPFU<v R4 —X
MI/L<T R 2—X 48. 29
rH Bz
4x100mR ()11 EE#®S
ER FX
28 & _
smoy [P WZ 1.70[# & ‘ 1.45
" ZRTAE—X EETRE—X
= |FA EA 3.60
et MIL< RS2 —X GR
— R E— 549 C(1L.D[ER & 3.82 (+1.2)
EETRE—X MIU<T R4 —X
- IR\ @ia 11.32 (-1.0)
— EmETRAE—X
s (B FT— 4.25
AR | ez a—x
Hﬂ,ﬁ?ﬁ IJ\*ﬁmﬁ 1§'ﬁE R 35 99 Eﬂ*ﬁ’ %— R 11 22
mETRAE—X KT RAE—X
oy Ng FEE#H 47.08[#R  #=E 43. 68
MILUTRE—X BHTAE—X
K< A2 —X MIU<TRE—X ERTRAA—X MIL<w R 42— MFLTRE—R
oom | EF EZ 1281 (BD[=F ES 1333 (37 = Mz 1360 (3.7) #O Hz 15,02 (3.7 2@ E 16.35 (3.1
HMFLUTRE—X KR RAE—X ERTAA—X MIUU<T R G —X K< RE—X
200m 5% 22 2642 0.7 #z 2821 (-0.7)
HMFLUTRE—X EZRTRE—X
REBE HIF 57. 36
A00m | Rz a—%
800m RE HIF 2:15.59|{x% IE& 2:33.67
K< RAH2—X EETRAS—X
1500 nE 2R 4:55 45({£%F IE= 5:06. 13[#AK % 5:47.81
MINUTRE—R EETRA—X MIUL<TRE—X
5000m O e 18:08.85| LA =8I 18:12.97{&% IE&= 18:21. 46
MITL<RE—X K< RAH2—X EETRAS—X
60 imm% o 1003 (-0.3)[48F HAE  10.58 (-0.3)
HETAZ—X ZETRE—X
100mH |#HIE %% 17.23
0.5 [FE#H<RHF—X
FE B 1:07.07
A00mH oy e 2 2 5 — =
spmpy [BE FER 564 (0.6)[fccK [{Al 519 GO.5)MHE L 510 CO.HHE =E 4.40 (-1.7)
K< A2 —X K< A2 —X KIFE<v X2 —X MIULTRE2—X
= Rk xR &HA] 1046 0.1
— K< A2 —X
- WH HRE 12.91
S R Bk o
A (WA BE 8.48
AR |ogiiexs—x
PR MILT R A — PR-GR




ER | ER 14 2431 343L Afsf 54 64 161 84
A BER 8.45 (-1.5)|FEEF 28 8.91 (-1.5)
WSBEF | 60m o liexs—x GR| AR~ R4 —X GR
100m |EH ER 13.47 (1O IURE B 1467 CLYEK #GA 15.30 -1.5)|&E— =T 16.11 (1.5 |pAIER & 16.13 (-1.5)
MFTL~v R4 —X K< AH—X K< RXHE2—X EETRXS—X EETRXAH—X
K< AH—X
Hth & 6:07.79
1500m | S ez 4 —%
sooom | EA BRES 1844 93(FN E 18:55. 37[BoK %5 19:59. 18
KT RA—X MIUL<v R4 —X MIL<T R4 —X
60mH RIIER 1288 (0.Y[ER #HEh 12.94 (-0.3)
HEIRAE—X KR<TRH—X
100mH [BK #EA 21.04
-0.5 [KFE<X4—X
I ER 1:29.34
400mH Iﬁ%ﬂ?;—(é_x
=i OIE 17:26.16
3000mSC v .
siggy | 4NA 464 GLAH[FE EZ 4.09 (+0.8)
KR RAE2—X MIL<T R 42 —X PR
=Bk & 2NA 10.56 (-0.9)
— 2&7§9—x
NEBH Emeza—x LT R 2 — X PR
n [FH =T 9. 74|fa8] HRIE 8.73
A =EvRA—X EETRA—X
A HHE =T X 31.89|f5] HIE 25.44
ZEVARAAZ—X EEVvRA4—X
ZEEVTARI—X
A |PE EZ 22.28
Py MILT R Y — R
M60E F gom |LA —t 861 C2AH=H EB 881 (2HMEX EE 8.9 (24[EM FX 9.63 (-2.4)
MILUT R E —X PR-GR|EE<YRXRZ—X EEYRZ—X MIU<T R4 —X
100m s —t - 13.89 (-2.8) =R BIE 1425 29|Fx EE 14.27 -2.8)|=H 08 14.32 (-2.8)|AF] BFX 15.55 (-2.8)
MUY R 8 —X KR A2 —X EETAS—X EETAS—X MITL~v R4 —X
oo |BBR EWE 2885 (1.5 EE 2046 (1.5|REH HFfr 3861 (1.5
ARTRAHE—X EEVRA—X EZRVAA—RX
KR A2 —X
EETAA—X EETAS—X MIL~< R4 —X EZRTAXAA—X
MPFU<v R 2 —X
BEHBE F1T 57. 60
S00mH s 2 2 5 —x
R E= 21:08. 32
3000mW *Q’EV;‘;_X
oy | A 1.50
EBY | Xmvzs—x
=op R S8 4.69 (-2.8)
AR |—goxs—x
= BBk 2K Bx ‘1omeonim =& 9.89 (-0.3)
— ARTRE—R =EYR4—X
T ER Bk 2K Bx X 12.91|EI 1E8 ‘ 12.83|ILAR —th 12.08|@F0 EX 10. 09
KR A2 —X ZEVYAA—X MILTRE—X MFTLU~vRE—X
a3 o &% 8.88
. — 25.19
P& MILT R A —Z
vo_tn  |MARE R 27.16
nov-¥% EBTRA—X
By ER = ‘ 42.06(8RE #Eth 33.89|A1L #¥p— 26.55|t2@H B 17. 39
KR A2 —X MILTRE—X MIUT R A —X MIUT R A —X




ER | ER 14 2431 343L Afsf 54 64 161 843
hEH &RE 8.85 (2.2 [T & 10.39 (-2.2)
M653% ¥ 60m IS Py PR-GR|m# Y X2 —X
100m A HE 14.29 (-0.8) [fE@ #F 14.45 (-0.8) [BA {ZHHE 15.97 (-0.8)[dtBF #& 16.93 (-0.8)
MBLUTRE—X AT RA—X fFL~v R4 —X mEITRA—X
NRE 35.73 (-1.5)
HETRAA—X
aA ME 1:16.90
A00m | Rz 8 —2
e 2:40.35
800m | i pezs—x
KR A2 —X EETRXA—X
ItE % 26:23.05
5000m ML RE2—X
aA E 1:02.18
S00mH | KR 28 —X
ﬁi&%*ﬁf'ﬁ 12.67(8RE ®&E 10.67|& & #niE 9.76
HEPTAE—X I~ R4 —X KR RH—X
TR = SR ] 11.32[2F7 E= 1.7718A 2= 1.27(lLAX =i& 6.89
BHTRAE—X KRR H—X EETRAE—X Ml<T X2 —X
i CES ] 36.39|NfE Eift 27.371|lLAx =E1iF 25. 82|25 E=x 25.27
* |BHIwR g —X KRTRE—X A< 22 —X KR<TRE—X
N33 it 39.45|88 A8 A= 29.00[NE FEi# 26.31|2F5 E=x 23.08
FBHMITAZ—X GETAZ—X KR A2 —X KR A2 —X
By Ak Fif 33.21|luEx EiE 23.52|%88 7 %= 22.40
KR RAHZ—X ML X4—X EERAA—X
kA H— 9.41 (0.7 [k EHF 12.00 (-0.7)
W0Z¥ | 60m | iexs—x AL A — X
100m (kA H-— 14.79
-0.2 |FFU~vRAE2—X
L E S 26:38.78
0000m | el x 5 —
8omH (S8 #FxX 17.15
-3.8 kw7§9—x
28 Bx 58.18
300mH jc[iji‘\?x;—x“
A EE 21:15.76
3000mW iy
= |DE BX 1.90
BEl | xmvzxs—x
w oy [RA  FIH 10.50{& )1l 5 10. 24
SARBRBE oz 5 —x GRlmTL= 2 5 — % GR
T i YITER 11.34(BF BEZ= (ENEIES 7.88
* B4 —X KETRA—X MIILT R E —X
P2 45 BE FIE 23. 21
* v zxe—X
N1 B Fli# 30. 60|14+ & 30.39[BE FIE 25.88|F#k EFE 8.73
KR A2 —X FBHMITAZ—X BHTAEZ—X MIULU<TRE—X
U YITER 33.55|=H# BB 31.23

BHMTRAE—X

REBTRAE—X




ER | ER 14 2431 343L Afsf 54 64 161 84
N7558 F 60 B A8 9.23 (0.7 [&EHn R 9.63 (0.7 [=F F17 11.50 (0.7 |ARZE =& 13.34 (-0.7)
BEIAZ—X =ZETRA—X MIuL<v R4 —=X MIL<TRE—X
e 1T 17.83 (-0.2) |BRZE A 21.46 (-0.2)
MIFU<v x4 —X MPFU<v x4 —X
200m ($F¥  HiE 41.63
-1.5 |FFu~vx4—X
(5353 A ] 1:32.75
400m MIU<v x4 —X
WA Ek 3:38.93
800m ZRTREZ—X
1500m LA =0k 7:37.85| =K = 9:35.67
EZRTRAA—X I~ R4 —X
B &sh 29:04.76
5000m |y Rw 28 —X
J\B =B 11:12. 47
2000mSC = 2 — X
EiEk B A8 401 (-0.2) | R 3.58 (+2.0) (=% FH1T 2.54 (-0.8)
W lpEw x4 —X =8vR4—X MIL<T R 2 —Z
Bk g R AR A 10. 39/ iy & 9.59
ZETRXRA—X HEIRAA—X PR-GR| K< X %2 —X
AL WHE {3 ) 10. 92|/ iy 7= 8. 321k I 6.77|=# =H 6.27
BHITAA—X K< AH—X KR RAH2—X MIUL<v R4 —X
P AR 4% WHE {3 ) 21. 13|11k I 22. 541 Y R 22.48|ILA&  F05A 17.96
FBHMITAZ—X KR RAH2—X KR AA—X MIULU<TRE—X
N33 WHE  EE 43. 19|k T 21.26
BHMIAZ—X KR A2 —X
HZA 1EfT 11.31 (1.4 |3 FHE 13.36 (-1.4)
M80% ¥ 60m KRR B —X MILT R4 —X
100m HA 1EfT 17.97 (-0.2)|ikith ERE 22.00 (-0.2)[;If8 —% 25.34 (-0.2)
KR A2 —X MIUL<T R A —X MIL<T R4 —X
MPFU<v R4 —X
hEl  1ThfE 4:05. 42
800m  |ege 2 5 —x
JEE IE 25.27 (-3.8)
8OmH |y lpez s —x
—m |[FE IEF 7.12 (-0.8)
=Rk E#vxg_x
P 10.02[Ff £ EF 9.58
SRR gz 58— BHRvRA2—X
T i BmK R } 10.37\ILA  RRif 1.28|FM EE 6.99|%E i 6.16
EETRAE—X REBTRAE—X BHIAEZ—X MILT R4 —X
P AR BAX F ‘ 28. 24| ILAX  EEif 20. 05(&ER  41NigE 15.17|FW EB 15.05
EETARE—X REBTRAE—X MILT R4 —X BHIAEZ—X
Y713 WA PR 24 3|EH EB 13.93
RBTRAEZ—X BHIAEZ—X
L |RER AN 16. 26
PY& MILT R E —Z
60m =¥ X5 13.96
WSEF | 14 |mmuw~za—x
100m [|d& Rk 19.50
0.2 |ZEBYR42—X
200m (4 B=% 45. 65
-1.5 |EBYA4—X
—o A6 BX 2.72 +0.7)
e ERTYRA—X
~ |EfE FEX 4.94
AR |xpeza—x
e 1 x=EH X5 15. 40| Eff ZEX 9.43
MILTRE—X =RTAA—RX
nyv-13 x=EH X5 15. 44
MPFU<T R 2 —X
O B FXX 11.78

EZRTAZ—X




&5l | #EH 141 241 K112 Asp 5 64z 141 84
a 60mH  [Lus  RESA 9.59
WRERST 03 |m#eza—X
110mH (U EESA 18.72
-1.1 [F#IRFZ—X
T T/ 28.76
200mH HETAZ—X
e FEsh 1:06. 83
400mH RETAA—R
. =o |BH B 3.80
wsunzEst| ook AT 24— K
—o VB B 6.16 (+0.5)
AR | guexs—x
— e |BH = 11.56 (-0.5)
=Rk MIUL<T R 2 —X
- BEH = 15.10
M E BBk MIUL<TR 2 —X
a 60mH (LU RE 11.15
WRERST 03 |Eleza—x
100mH  [LLEF RE 19.08
-0.5 |EluwR4—X
iy RE 31. 11
200mH )2 25 —%
400mH IJ-IIEE' ;k% 1:09.50

BUTAH—X




$£4 1EMIUPRAY — XELiRIXEFERS

£ 31— F : 18300050
FR304£4H8228 (H)
REHFOEE LHES

s — F - 301010

[ZFDE]

EAl | EB

3fsz

A1

S{ir

64z

14z

81z

W35%& F 60m

1461
BEH =
FIBRILT R 5 — X

9.04

3.1

241
BA =
MIL<T X2 —X

10.03 (=3.1)

3L H BBk

JEH =
HMPULT R4 —X

10

48

P YK

e 5 A
MFLTRE—X

26.

60

W40z F 60m

MR —=
HEMITRAE—X

9.33

3.1

X #®mEF
Z=RTRE—X

10.11 (=3.1)

100m
2

NX #WEF
ZRTRE—X

16

23

400m

ZH  BhF
MmIuu< x4 —X

1

:25.

26

ENRBE

NX #WEF
EZRTRE—X

3.69

(-0.3)

W50%+ | 3000mW

B =/l
ZRTRE—X

18:

19

11

200m

sz ¥ | S0

AR BAF
EETRZ2—X

32.

07

1500m

INE BF
MIL<T R A2 —X

5:

56.

18

5000m

M BT
MFLTRE—X

20:

47.

46
PR

ENEBE

AB BAF
EETRZ—X

4.15

(+0.9)

S A ER B

ABE BAF
EETRZ2—X

10.

43

fat %

W% XHE
EETAS—X

.67

Mg

WX BHF
MIL<T R —X

17.

20

W XHE
EEYRZ—X

14.94

nMI-1%

W% XHE
EEVAA—X

23.

04

WA HF
MIU< R4 —X

22.84

60mH

weozF | 2"

XH E¥F
HEMT R —X

11.

91

fat %

W =F
EEVAA—X

.98

Mg

Wi =F
EEVAA—X

21.

30

XE =H
MILU< R4 —X

16. 64

nMI-1%

W =F
EEVAA—X

26.

51

LY E

XE =
MIL<T R4 —X

18.

29

W70+ | Fahix

B =T
ZETRE—X

.81

Mg

B =T
ZERTRA—X

.45

W7sz+ | MK

FER  BF
EETAA—X

12.

13

NV-3%

FER  BF
EEVAA—X

25.

37

Py

FER  BF
EEVAA—X

17.

34




ERl | #EH 141 241 361 AL 51 64z 141 8fi
o BB RF 1.09
veoptEEELT | IE =k EETAA—X
mey BH BRF 1.40
= n:%v?ﬂa—x‘
o BB BT 3.70 (+1.3)
ERE ez s—x
—ppy |[EB BT 7.56 (-1.9)
— m%7§?—f
G 9.8
UEBH|Zg T
60m mwKX E¥F 20. 69
WEORF | 31 |mmwwzs—x
n |IMK EF 4. 51
AR |amuexs—x

PR: B# GR: K&H
T #NPOEARMTLUT R A2 —XBELEFHBESR
% & MIWUE AFUEREZRER ABMEZEAMFUEAERHS TWUT ARUTBEEZES MFUTAFEHSE NHKFUBLER
HEFFMPLLE SEFFMNLZE HaFEMRLXE EEHFEL 7L EMIL FMILUBGE HAPEHR =1 —XFIL
* E: NPOMIUTRLE —XELRESR
EERA - —RMEEATTUUE EFRIGE

[REKR]

il Kz SR % JEL ] JAEm/sec

9:30 i 22.5 43 3] 0.7

10:00 i 22.0 43 L 1.1 # o HYF
11:00 i 22.5 49 HER 2.4

12:00 i 21.5 49 FEED 1.5 cSwo  Bf BA
13:00 i 22.0 50 [l 3.5

14:00 i3 23.0 40 B 1.3 J4—K:BR ==
15:00 i 22.5 40 HER 1.4

16:00 i 22.5 40 [ 1.1 REREE  ELE Bt




